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QUESTION 1

Which best practices do you apply when you optimize the table distribution in a scale-out SAP HANA
database?

There are 2 correct answers to this question.

Response:

A. Cross-node joins must be avoided.

B. Table partitions can be distributed over all nodes.

C. The row store can be distributed over all nodes.

D. The columns of a table can be distributed over all nodes.

Correct Answer: BC

QUESTION 2

A SAP HANA system is a database management system (DBMS); that is, it is a server component that
manages a database model. Which of the following is the wrong statement regarding DBMS functions
Please choose the correct answer.

Response:

A. Maintains relationships between data

B. Recovers data automatically to the most recent consistent status after a system failure

C. Provides secure access to data using only adm authorization

D. Delivers high performance for processing data requests

Correct Answer: C

QUESTION 3

Which of the following Inter-Service Communication properties binds the processes to entered address
only and to all local host interfaces?

Choose the correct answer.

Response:

A. Global
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B. Internal
C. Local

Correct Answer: C

QUESTION 4

Which of the following users are able to start and stop a distributed SAP HANA Database System There
are 2 correct answers to this question.

Response:

A. SYSTEM user

B. ADM user

C. ROOT user

Correct Answer: BC

QUESTION 5

Which information is provided via the SUM UI? There are 3 correct answers to this question. Response:
A. A progress bar for the overall procedure

B. The active roadmap step

C. The memory consumption of SUM

D. The content of log files via the log viewer

Correct Answer: ABD
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